# The Sine-Cosine Method For The Davey-Stewartson Equations* 

Hassan A. Zedan ${ }^{\dagger}$, Shatha Jameel Monaquel ${ }^{\ddagger}$

Received 26 July 2009


#### Abstract

In this paper, we establish exact solutions for nonlinear Davey-Stewartson equations. The sine-cosine method is used to construct periodic and solitary wave solutions.


## 1 Introduction

The sine-cosine method (see e.g. [1-4]) has been used to to solve different types of nonlinear systems of PDEs. The higher-dimensional nonlinear wave fields have richer phenomena than one-dimensional ones, since various localized solitons may be considered in higher-dimensional space.

The Davey-Stewartson equation (DSE) was introduced in [6] to describe the evolution of a three-dimensional wave-packet on water of finite depth. It is a system of partial differential equations for a complex (wave-amplitude) field $q(t, x, y)$ and a real (mean-flow) field $\phi(t, x, y)$ :

$$
\begin{gather*}
i q_{t}+\frac{1}{2} \sigma^{2}\left(q_{x x}+\sigma^{2} q_{y y}\right)+\lambda|q|^{2} q-\phi_{x} q=0 \\
\phi_{x x}-\sigma^{2} \phi_{y y}-2 \lambda\left(|q|^{2}\right)_{x}=0 \tag{1}
\end{gather*}
$$

where $\lambda= \pm 1$ and $\sigma^{2}= \pm 1$. The case $\sigma=1$ is called the DSI equation, while the case $\sigma=i$ is called the DSII equation. The parameter $\lambda$ characterizes the focusing or defocusing case [5]. The DS equation has four kinds of soliton solutions: the conventional line, algebraic, periodic and lattice solitons. The conventional line soliton has an essentially one-dimensional structure. On the other hand, the algebraic, periodic and lattice solitons have a two-dimensional localized structure.

The DSI and DSII equations are two well-known examples of integrable equations in two spacial dimensions, which arise as higher dimensional generalizations of the nonlinear Schrodinger equation, as well as from physical considerations [6-7]. Indeed,

[^0]they appear in many applications, for example in the description of gravity-capillarity surface wave packets in the limit of shallow water. Therefore it is of interests to derive explicit solutions of the DS equation.

During the past decades, quite a few methods for obtaining explicit traveling and solitary wave solutions of nonlinear evolution equations have been proposed, such as the inverse scattering method, bilinear transformation, the tanh-sech method, extended tanh method and homogeneous balance method.

Concepts like solitons, peakons, kinks, breathers, cusps and compactons are being thoroughly investigated in the scientific literature (see e.g. [8-10]).

## 2 Sine-Cosine Method

We introduce the wave variable $\xi=x-c t$ into the PDE

$$
\begin{equation*}
P\left(u, u_{t}, u_{x},, u_{t t}, u_{x x}, \ldots\right)=0 \tag{2}
\end{equation*}
$$

where $u(x, t)$ is a traveling wave solution. This enables us to use the following changes of variables:

$$
\begin{equation*}
\frac{\partial}{\partial t}=-c \frac{\partial}{\partial \xi}, \quad \frac{\partial^{2}}{\partial t^{2}}=c^{2} \frac{\partial^{2}}{\partial \xi^{2}}, \quad \frac{\partial}{\partial x}=\frac{\partial}{\partial \xi} \frac{\partial^{2}}{\partial \xi^{2}}, \ldots \tag{3}
\end{equation*}
$$

One can immediately reduce the nonlinear PDE (2) into a nonlinear ODE

$$
\begin{equation*}
Q\left(u, u_{\xi}, u_{\xi \xi},, u_{\xi \xi \xi}, \ldots\right)=0 \tag{4}
\end{equation*}
$$

The ordinary differential equation (4) is then integrated as long as all terms contain derivatives, where we neglect the integration constants.

The solutions of many nonlinear equations can be expressed in the form

$$
u(x, t)= \begin{cases}\lambda_{1} \sin ^{\beta}(\mu \xi), & |\xi| \leq \frac{\pi}{\mu}  \tag{5}\\ 0, & \text { otherwise }\end{cases}
$$

or in the form

$$
u(x, t)=\left\{\begin{array}{cc}
\lambda_{1} \cos ^{\beta}(\mu \xi), & |\xi| \leq \frac{\pi}{2 \mu}  \tag{6}\\
0 & \text { otherwise }
\end{array}\right.
$$

where $\lambda, \mu$ and $\beta$ are parameters to be determined, $\mu$ and $c$ are the wave number and the wave speed, respectively [2]. We use

$$
\begin{align*}
u(\xi) & =\lambda_{1} \sin ^{\beta}(\mu \xi)  \tag{7}\\
u^{n}(\xi) & =\lambda_{1}^{n} \sin ^{n \beta}(\mu \xi)  \tag{8}\\
\left(u^{n}\right)_{\xi} & =n \mu \beta \lambda_{1}^{n} \cos (\mu \xi) \sin ^{n \beta-1}(\mu \xi)  \tag{9}\\
\left(u^{n}\right)_{\xi \xi} & =-n^{2} \mu^{2} \beta^{2} \lambda_{1}^{n} \sin ^{n \beta}(\mu \xi)+n \mu^{2} \lambda_{1}^{n} \beta(n \beta-1) \sin ^{n \beta-2}(\mu \xi) \tag{10}
\end{align*}
$$

and their derivatives.

$$
\begin{equation*}
u(\xi)=\lambda_{1} \cos ^{\beta}(\mu \xi) \tag{11}
\end{equation*}
$$

$$
\begin{align*}
u^{n}(\xi) & =\lambda_{1}^{n} \cos ^{n \beta}(\mu \xi)  \tag{12}\\
\left(u^{n}\right)_{\xi} & =-n \mu \beta \lambda_{1}^{n} \sin (\mu \xi) \cos ^{n \beta-1}(\mu \xi)  \tag{13}\\
\left(u^{n}\right)_{\xi \xi} & =-n^{2} \mu^{2} \beta^{2} \lambda_{1}^{n} \cos ^{n \beta}(\mu \xi)+n \mu^{2} \lambda_{1}^{n} \beta(n \beta-1) \cos ^{n \beta-2}(\mu \xi) \tag{14}
\end{align*}
$$

and so on. We substitute (7)-(10) or (11)-(14) into the reduced equation (4), balance the terms of the cosine functions when (7)-(10) are used, or balance the terms of the sine functions when (11)-(14) are used, and solve the resulting system of algebraic equations by using computerized symbolic packages. We next collect all terms with the same power in $\cos ^{k}(\mu \xi)$ or $\sin ^{k}(\mu \xi)$ and set to zero their coefficients to get a system of algebraic equations among the unknowns $\lambda, \mu$ and $\beta$, and solve the subsequent system.

## 3 The Davey-Stewartson Equation

In this section, we deal with the Davey-Stewartson equation (1). Take the following transformations of (1)

$$
\begin{align*}
q(x, y, t) & =U(\xi) e^{i \theta}, \phi(x, y, t)=V(\xi)  \tag{15}\\
\xi & =x+y-c t, \theta=K_{1} x+K_{2} y+K_{3} t \tag{16}
\end{align*}
$$

where $K_{1}, K_{2}$ and $K_{3}$ are real constants [11]. It is easy to derive from (15), (16) and (1) that

$$
\begin{gather*}
c=\sigma^{2} k_{1}+k_{2}  \tag{17}\\
\sigma^{2}\left\{\left(1+\sigma^{2}\right) U^{\prime \prime}\right\}-\left[2 k_{3}+\sigma^{2}\left(k_{1}^{2}+\sigma^{2} k_{2}^{2}\right)+2 V^{\prime}\right] U+2 \lambda U^{3}=0  \tag{18}\\
\left(1-\sigma^{2}\right) V^{\prime \prime}-2 \lambda\left(U^{2}\right)^{\prime}=0 \tag{19}
\end{gather*}
$$

Integrating (19) with respect to $\xi$ and setting the constant of integration to zero, we find

$$
\begin{equation*}
V^{\prime}=\frac{2 \lambda}{1-\sigma^{2}} U^{2} \tag{20}
\end{equation*}
$$

Substituting (20) into (18) gives

$$
\begin{equation*}
\sigma^{2}\left\{\left(1+\sigma^{2}\right) U^{\prime \prime}\right\}-\left[2 k_{3}+\sigma^{2}\left(k_{1}^{2}+\sigma^{2} k_{2}^{2}\right)\right] U+2 \lambda\left[\frac{-2}{1-\sigma^{2}}+1\right] U^{3}=0 \tag{21}
\end{equation*}
$$

Seeking solutions of the form (5), we get

$$
\begin{align*}
& \sigma^{2}\left(1+\sigma^{2}\right)\left[-\mu^{2} \beta^{2} \lambda_{1} \sin ^{\beta}(\mu \xi)+\mu^{2} \beta^{2} \lambda_{1} \beta(\beta-1) \sin ^{\beta-2}(\mu \xi)\right]- \\
& {\left[2 k_{3}+\sigma^{2}\left(k_{1}^{2}+\sigma^{2} k_{2}^{2}\right)\right] \lambda_{1} \sin ^{\beta}(\mu \xi)+2 \lambda\left[\frac{-2}{1-\sigma^{2}}+1\right] \lambda_{1}^{3} \sin ^{3 \beta}(\mu \xi) } \\
= & 0 . \tag{22}
\end{align*}
$$

Equating the exponents and the coefficients of each pair of the sine functions we find the following algebraic system:

$$
\begin{gather*}
3 \beta=\beta-2 \\
\beta-1 \neq 0 \\
\sigma^{2}\left(1+\sigma^{2}\right) \mu^{2} \lambda_{1} \beta(\beta-1)+2 \lambda\left[1-\frac{2}{1-\sigma^{2}}\right] \lambda_{1}^{3}=0  \tag{23}\\
-\sigma^{2}\left(1+\sigma^{2}\right) \mu^{2} \beta^{2} \lambda_{1}-\left[2 k_{3}+\sigma^{2}\left(k_{1}^{2}+\sigma^{2} k_{2}^{2}\right)\right] \lambda_{1}=0
\end{gather*}
$$

106

By solving the algebraic system (23), we get, when $\frac{2 k_{3}+k_{1}^{2} \sigma^{2}+k_{2}^{2}}{\sigma^{2}}<0$,

$$
\begin{gather*}
\beta=-1,  \tag{24}\\
\mu= \pm \sqrt{-\frac{2 k_{3}+k_{1}^{2} \sigma^{2}+k_{2}^{2}}{\sigma^{2}}} \\
\lambda_{1}= \pm \sqrt{-\frac{2 k_{3}+k_{1}^{2} \sigma^{2}+k_{2}^{2}}{\lambda}} .
\end{gather*}
$$

In view of (5), (15), (16) and (24), for $\frac{2 k_{3}+k_{1}^{2} \sigma^{2}+k_{2}^{2}}{\sigma^{2}}<0$, we obtain the periodic solutions
$q(x, y, t)= \pm \sqrt{-\frac{2 k_{3}+k_{1}^{2} \sigma^{2}+k_{2}^{2}}{\lambda}} e^{i\left(k_{1} x+k_{2} y+k_{3} t\right)} \csc \left[ \pm \sqrt{-\frac{2 k_{3}+k_{1}^{2} \sigma^{2}+k_{2}^{2}}{\sigma^{2}}}(x+y-c t)\right]$,
where

$$
\begin{equation*}
0<\left[ \pm \sqrt{-\frac{2 k_{3}+k_{1}^{2} \sigma^{2}+k_{2}^{2}}{\sigma^{2}}}(x+y-c t)\right]<\pi \tag{25}
\end{equation*}
$$

and
$q(x, y, t)= \pm \sqrt{-\frac{2 k_{3}+k_{1}^{2} \sigma^{2}+k_{2}^{2}}{\lambda}} e^{i\left(k_{1} x+k_{2} y+k_{3} t\right)} \sec \left[ \pm \sqrt{-\frac{2 k_{3}+k_{1}^{2} \sigma^{2}+k_{2}^{2}}{\sigma^{2}}}(x+y-c t)\right]$,
where

$$
\begin{equation*}
\left|\left[ \pm \sqrt{-\frac{2 k_{3}+k_{1}^{2} \sigma^{2}+k_{2}^{2}}{\sigma^{2}}}(x+y-c t)\right]\right|<\frac{\pi}{2} \tag{26}
\end{equation*}
$$

and for $\frac{2 k_{3}+k_{1}^{2} \sigma^{2}+k_{2}^{2}}{\sigma^{2}}>0$, the following solitary solutions

$$
\begin{equation*}
q(x, y, t)= \pm i \sqrt{-\frac{2 k_{3}+k_{1}^{2} \sigma^{2}+k_{2}^{2}}{\lambda}} e^{i\left(k_{1} x+k_{2} y+k_{3} t\right)} \csc h\left[ \pm \sqrt{\frac{2 k_{3}+k_{1}^{2} \sigma^{2}+k_{2}^{2}}{\sigma^{2}}}(x+y-c t)\right] \tag{27}
\end{equation*}
$$

and

$$
\begin{equation*}
q(x, y, t)= \pm \sqrt{-\frac{2 k_{3}+k_{1}^{2} \sigma^{2}+k_{2}^{2}}{\lambda}} e^{i\left(k_{1} x+k_{2} y+k_{3} t\right)} \sec h\left[ \pm \sqrt{\frac{2 k_{3}+k_{1}^{2} \sigma^{2}+k_{2}^{2}}{\sigma^{2}}}(x+y-c t)\right] \tag{28}
\end{equation*}
$$

where

$$
c=\sigma^{2} k_{1}+k_{2}
$$

To find the solutions $\phi(x, y, t)$, according to (20), we have

$$
\begin{equation*}
V(\xi)=\frac{2 \lambda}{1-\sigma^{2}} \int U^{2}(\xi) d \xi \tag{29}
\end{equation*}
$$

By means of the equations (15), (16), (5) and (29) and using equation (24), we have the following perodic solutions for $\phi(x, y, t)$ :

- When $\frac{2 k_{3}+k_{1}^{2} \sigma^{2}+k_{2}^{2}}{\sigma^{2}}<0$, we get

$$
\begin{equation*}
\phi(x, y, t)=\frac{-2 \sigma \sqrt{\lambda}}{1-\sigma^{2}} \cot \left[\sqrt{-\frac{2 k_{3}+k_{1}^{2} \sigma^{2}+k_{2}^{2}}{\sigma^{2}}}(x+y-c t]\right. \tag{30}
\end{equation*}
$$

and

$$
\begin{equation*}
\phi(x, y, t)=\frac{-2 \sigma \sqrt{\lambda}}{1-\sigma^{2}} \tan \left[\sqrt{-\frac{2 k_{3}+k_{1}^{2} \sigma^{2}+k_{2}^{2}}{\sigma^{2}}}(x+y-c t] .\right. \tag{31}
\end{equation*}
$$

- When $\frac{2 k_{3}+k_{1}^{2} \sigma^{2}+k_{2}^{2}}{\sigma^{2}}>0$, we get the following solitary wave solutions

$$
\begin{equation*}
\phi(x, y, t)=\frac{2 \sigma \sqrt{-\lambda}}{1-\sigma^{2}} \operatorname{coth}\left[\sqrt{\frac{2 k_{3}+k_{1}^{2} \sigma^{2}+k_{2}^{2}}{\sigma^{2}}}(x+y-c t]\right. \tag{32}
\end{equation*}
$$

and

$$
\begin{equation*}
\phi(x, y, t)=\frac{2 \sigma \sqrt{-\lambda}}{1-\sigma^{2}} \tanh \left[\sqrt{\frac{2 k_{3}+k_{1}^{2} \sigma^{2}+k_{2}^{2}}{\sigma^{2}}}(x+y-c t]\right. \tag{33}
\end{equation*}
$$

where

$$
c=\sigma^{2} k_{1}+k_{2}
$$

## 4 Illustrations

We now plot a few solutions found in our previous discussions.


Figure 1: $q(x, y, t)$ in (25) and $\phi(x, y, t)$ in (30) where $y=0.1, k_{1}=0.3, k_{2}=0.5$, $k_{3}=1.5, \sigma=I, \lambda=1$.


Figure 2: $q(x, y, t)$ in (25) and $\phi(x, y, t)$ in (30) where $y=0.1, k_{1}=0.3, k_{2}=0.5$, $k_{3}=1.5, \sigma=I, \lambda=-1$.


Figure 3: $q(x, y, t)$ in (26) and $\phi(x, y, t)$ in (31) where $y=0.3, k_{1}=1.3, k_{2}=1.5$, $k_{3}=0.3, \sigma=I, \lambda=1$.


Figure 4: $q(x, y, t)$ in (26) and $\phi(x, y, t)$ in (31) where $y=0.3, k_{1}=1.3, k_{2}=1.5$, $k_{3}=0.3, \sigma=I, \lambda=-1$.


Figure 5: $q(x, y, t)$ in (27) and $\phi(x, y, t)$ in (32) where $y=-0.1, k_{1}=1.5, k_{2}=0.3$, $k_{3}=-0.6, \sigma=I, \lambda=1$.


Figure 6: $q(x, y, t)$ in (27) and $\phi(x, y, t)$ in (32) where $y=-0.1, k_{1}=1.5, k_{2}=0.3$, $k_{3}=-0.6, \sigma=I, \lambda=-1$.


Figure 7: $q(x, y, t)$ in (28) and $\phi(x, y, t)$ in (33) where $y=0.6, k_{1}=-2, k_{2}=0.7$, $k_{3}=0.5, \sigma=I, \lambda=1$.


Figure 8: $q(x, y, t)$ in (28) and $\phi(x, y, t)$ in (33) where $y=0.6, k_{1}=-2, k_{2}=0.7$, $k_{3}=0.5, \sigma=I, \lambda=-1$.

## References

[1] E. Yusufoğlu, A. Bekir and M. Alp, Periodic and solitary wave solutions of Kawahara and modified Kawahara equations by using sine-cosine method. Chaos Solitons Fractals, 37(4)(2008), 1193-1197.
[2] A. M. Wazwaz, A sine-cosine method for handing nonlinear wave equations., Math. Comput. Model., 40(2004), 499-508.
[3] A. M. Wazwaz, Compacton solutions of the Kawahara-type nonlinear dispersive equation, Appl. Math. Comput. 145(1)(2003), 133-150.
[4] A. M. Wazwaz, The tanh and the sine-cosine methods for the complex modified KdV and the generalized KdV equations, Comput. Math. Appl. 49(7-8)(2005), 1101-1112.
[5] M. McConnell, A. S. Fokas and B. Pelloni, Localised coherent solutions of the DSI and DSII equations-a numerical study, Math. Comput. Simulation, 69(5$6)(2005), 424-438$.
[6] A. Davey and K. Stewartson, On three-dimensional packets of surface waves, Proc. Royal. Soc. Lond. Ser. A, 338(1974), 101-110.
[7] A. S. Fokas and L. Y. Sung, On the solvability of the $N$-wave, the Davey-Stewartson and the Kadomtsev-Petviashmli equation, Inverse Problems, 8(5)(1992), 673-708.
[8] M. Wadati, Introduction to solitons, Pramana J. Phys., 57(5-6)(2001), 841-847.
[9] M. Wadati, The exact solution of the modified Korteweg-de Vries equation., J. Phys. Soc. Japan., 32(1972), 1681-1687.
[10] M. Wadati, The modified Korteweg-de Vries equation, J. Phys. Soc. Japan., 34(1973), 1289-1296.
[11] Zedan, H. A. Blow-up the symmetry analysis for the Hirota-Satsuma equations. Izv. Nats. Akad. Nauk Armenii Mat. 43 (2008), no. 2, 53-65; translation in J. Contemp. Math. Anal., 43(2)(2008), 108-117.


[^0]:    *Mathematics Subject Classifications: 35Q51, 35P05, 35P99.
    ${ }^{\dagger}$ Department of Mathematics, Faculty of Science, King Abdul Aziz University, P. O. Box 80203, Jeddah 21589, Saudi Arabia, email: smonaquel@kau.edu.sa
    ${ }^{\ddagger}$ Department of Mathematics, Faculty of Science, Kafr el-Sheikh University, Kafr, El-Sheikh, Egypt, email: hzedan@kau.edu.sa

